COS 423


Problem Set No. 2 Addendum
Spring 2006

You may discuss problem No.5 with your friends. Do the other problems on your own. As always, write up all solutions, including that to No. 5, by yourself, and cite any sources of ideas, including your friends.
The specification of problem No. 1 used 
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to mean two different things. Instead, let
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be the number of rungs of the ladder, 
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the highest safe rung, and 
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the number of jars. Your goal is to discover 
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in as few jar drops as possible. You can either give the time bound as a function of 
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and
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(valid for all 
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£

) or as a function of
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and
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 assuming that
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is indefinitely large (and may not even be known to the algorithm). The latter is more challenging, but the bounds for the two versions of the problem are similar.
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